

				American Pipeline Construction		C & W Pipeline		CES Construction		DBF Co
Item no.	Description	Quantity	Unit	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit cost
1	Bonds and Insurance	1	LS	\$35,000.00	\$35,000.00	\$70,000.00	\$70,000.00	\$15,000.00	\$15,000.00	\$40,000.00
2	Mobilization	1	LS	\$45,000.00	\$45,000.00	\$118,000.00	\$118,000.00	\$110,000.00	\$110,000.00	\$96,000.00
3	Maintenance of Traffic	1	LS	\$45,000.00	\$45,000.00	\$70,000.00	\$70,000.00	\$50,000.00	\$50,000.00	\$30,000.00
4	Furnish and Install 12" DIP Force main - Open Cut	3100	LF	\$90.00	\$279,000.00	\$130.00	\$403,000.00	\$109.00	\$337,900.00	\$82.00
5	Furnish and install 12" HDPE - Horizontal Directional Drill	3100	LF	\$100.00	\$310,000.00	\$133.00	\$412,300.00	\$114.01	\$353,444.00	\$125.00
6	Furnish and install 12" HDPE - Horizontal Directional Drill - C-14 Canal	400	LF	\$190.00	\$76,000.00	\$135.00	\$54,000.00	\$250.00	\$100,000.00	\$175.00
7	Furnish and Install MJ Sleeve Adapter	14	EA	\$1,500.00	\$21,000.00	\$1,500.00	\$21,000.00	\$200.00	\$2,800.00	\$3,700.00
8	Furnish and install Ductil Iron Fittings for Pressurized Main	7.5	TN	\$15,000.00	\$112,500.00	\$7,500.00	\$56,250.00	\$13,990.93	\$104,932.00	\$7,500.00
9	Furnish and Install 2" Air Release Valve with Manhole Structure	10	EA	\$4,500.00	\$45,000.00	\$2,800.00	\$28,000.00	\$3,050.00	\$30,500.00	\$8,900.00
10	Furnish and Install 6" Gate Valve	2	EA	\$2,500.00	\$5,000.00	\$2,800.00	\$5,600.00	\$1,200.00	\$2,400.00	\$1,207.00
11	Furnish and Install 12" Gate Valve	10	EA	\$4,000.00	\$40,000.00	\$2,800.00	\$28,000.00	\$3,000.00	\$30,000.00	\$2,940.00
12	Bypass Pumping	1	LS	\$1.00	\$1.00	\$9,000.00	\$9,000.00	\$25,000.00	\$25,000.00	\$2,500.00
13	Cut & Connect to Existing Force Main	4	EA	\$8,000.00	\$32,000.00	\$6,000.00	\$24,000.00	\$5,000.00	\$20,000.00	\$4,500.00
14	Furnish & Install Temporary line Stop (6" to 12")	1	EA	\$1.00	\$1.00	\$4,500.00	\$4,500.00	\$16,000.00	\$16,000.00	\$7,495.00
15	Furnish and Install External Restraints on Existing Force Main	1	LS	\$3,000.00	\$3,000.00	\$3,800.00	\$3,800.00	\$1,000.00	\$1,000.00	\$3,545.00
16	Removal of Existing DIP Force Main	150	LF	\$15.00	\$2,250.00	\$6.00	\$900.00	\$20.00	\$3,000.00	\$14.00
17	Restore Concrete Sidewalk , Driveways and Miscellaneous Concrete	50	SY	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$70.00	\$3,500.00	\$85.00
18	Restore Curb and Gutter	160	LF	\$20.00	\$3,200.00	\$38.00	\$6,080.00	\$33.75	\$5,400.00	\$86.00
19	Remove existing limerock base materials	500	SY	\$5.00	\$2,500.00	\$8.00	\$4,000.00	\$10.00	\$5,000.00	\$2.30

20	Remove and Dispose of Existing Asphalt Pavement	500	SY	\$5.00	\$2,500.00	\$4.00	\$2,000.00	\$15.00	\$7,500.00	\$2.30	
21	Stabilization of Subgrade	340	SY	\$5.00	\$1,700.00	\$14.00	\$4,760.00	\$10.00	\$3,400.00	\$2.30	
22	Installation of Excavatable Flowable Fill	150	SY	\$250.00	\$37,500.00	\$120.00	\$18,000.00	\$65.00	\$9,750.00	\$50.00	
23	Furnish and Compact Limerock Base Material	480	SY	\$15.00	\$7,200.00	\$14.00	\$6,720.00	\$20.00	\$9,600.00	\$30.00	
24	Furnish and Place Asphalt Concrete Pavement - First Lift	480	SY	\$10.00	\$4,800.00	\$14.00	\$6,720.00	\$12.00	\$5,760.00	\$26.00	
25	Furnish and Place Asphalt Concrete Pavement - Second Lift	1250	SY	\$13.00	\$16,250.00	\$11.50	\$14,375.00	\$12.00	\$15,000.00	\$15.00	
26	Milling Existing Asphalt Pavement	750	SY	\$5.00	\$3,750.00	\$14.00	\$10,500.00	\$3.50	\$2,625.00	\$14.00	
27	Existing Irrigation System Restoration	1	LS	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00	\$575.11	
28	Sod Restoration	2500	SY	\$5.00	\$12,500.00	\$5.00	\$12,500.00	\$12.00	\$30,000.00	\$7.00	
29	Tree Removal/Replacement	10	EA	\$2,000.00	\$20,000.00	\$450.00	\$4,500.00	\$160.00	\$1,600.00	\$550.00	
30	Concrete Thrust Block	10	EA	\$1,000.00	\$10,000.00	\$120.00	\$1,200.00	\$225.00	\$2,250.00	\$100.00	
31	Permit Allowance	1	AL	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
32	Allowance	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
33	Cost of Idemnification	1	LS	100	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	
Totals					<u>\$1,227,252.00</u>	<u>\$1,457,305.00</u>			<u>\$1,369,461.00</u>		

Instruction	Florida Engineering and Development Corp.		Foster Marine Contractors, Inc.		Lanzo Construction Co.		Marcdan Inc.		R.P. Utility & Excavation		Roadway C	
	Total Cost	Unit cost	Total Cost	Unit cost	Total Cost	Unit cost	Total Cost	Unit cost	Total Cost	Unit cost	Unit cost	
	\$40,000.00	\$95,650.00	\$95,650.00	\$30,000.00	\$30,000.00	\$125,000.00	\$125,000.00	\$65,000.00	\$65,000.00	\$44,994.00	\$44,994.00	\$71,009.40
	\$96,000.00	\$194,150.00	\$194,150.00	\$130,000.00	\$130,000.00	\$250,000.00	\$250,000.00	\$110,000.00	\$110,000.00	\$89,989.00	\$89,989.00	\$116,308.50
	\$30,000.00	\$55,250.00	\$55,250.00	\$35,000.00	\$35,000.00	\$125,000.00	\$125,000.00	\$52,000.00	\$52,000.00	\$44,994.00	\$44,994.00	\$55,093.50
	\$254,200.00	\$139.70	\$433,070.00	\$104.00	\$322,400.00	\$161.00	\$499,100.00	\$92.00	\$285,200.00	\$61.00	\$189,100.00	\$97.52
	\$387,500.00	\$223.70	\$693,470.00	\$112.00	\$347,200.00	\$263.00	\$815,300.00	\$152.00	\$471,200.00	\$65.00	\$201,500.00	\$161.65
	\$70,000.00	\$258.60	\$103,440.00	\$126.00	\$50,400.00	\$323.00	\$129,200.00	\$190.00	\$76,000.00	\$64.00	\$25,600.00	\$199.28
	\$51,800.00	\$3,500.00	\$49,000.00	\$250.00	\$3,500.00	\$1,980.00	\$27,720.00	\$300.00	\$4,200.00	\$1,000.00	\$14,000.00	\$314.29
	\$56,250.00	\$15,550.00	\$116,625.00	\$14,000.00	\$105,000.00	\$7,468.00	\$56,010.00	\$7,400.00	\$55,500.00	\$8,600.00	\$64,500.00	\$7,864.14
	\$89,000.00	\$7,000.00	\$70,000.00	\$9,500.00	\$95,000.00	\$12,745.00	\$127,450.00	\$3,800.00	\$38,000.00	\$4,400.00	\$44,000.00	\$4,106.44
	\$2,414.00	\$1,560.00	\$3,120.00	\$1,700.00	\$3,400.00	\$1,970.00	\$3,940.00	\$1,200.00	\$2,400.00	\$2,200.00	\$4,400.00	\$1,275.71
	\$29,400.00	\$3,380.00	\$33,800.00	\$3,000.00	\$30,000.00	\$3,477.00	\$34,770.00	\$2,600.00	\$26,000.00	\$4,362.79	\$43,627.90	\$2,760.77
	\$2,500.00	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$12,741.00	\$12,741.00	\$0.00	\$0.00	\$100.00	\$100.00	\$10,611.13
	\$18,000.00	\$4,500.00	\$18,000.00	\$4,000.00	\$16,000.00	\$7,143.00	\$28,572.00	\$5,000.00	\$20,000.00	\$10,000.00	\$40,000.00	\$5,136.76
	\$7,495.00	\$23,600.00	\$23,600.00	\$8,000.00	\$8,000.00	\$11,201.00	\$11,201.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$4,285.05
	\$3,545.00	\$3,700.00	\$3,700.00	\$3,500.00	\$3,500.00	\$20,636.00	\$20,636.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00	\$3,421.15
	\$2,100.00	\$43.00	\$6,450.00	\$15.00	\$2,250.00	\$23.00	\$3,450.00	\$8.00	\$1,200.00	\$14.00	\$2,100.00	\$8.48
	\$4,250.00	\$98.50	\$4,925.00	\$130.00	\$6,500.00	\$83.00	\$4,150.00	\$52.00	\$2,600.00	\$33.00	\$1,650.00	\$55.12
	\$13,760.00	\$45.00	\$7,200.00	\$45.00	\$7,200.00	\$37.00	\$5,920.00	\$20.00	\$3,200.00	\$18.00	\$2,880.00	\$22.26
	\$1,150.00	\$9.80	\$4,900.00	\$6.00	\$3,000.00	\$5.00	\$2,500.00	\$6.00	\$3,000.00	\$20.00	\$10,000.00	\$6.36

\$1,150.00	\$6.50	\$3,250.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$6.00	\$3,000.00	\$20.00	\$10,000.00	\$6.36
\$782.00	\$22.00	\$7,480.00	\$20.00	\$6,800.00	\$22.00	\$7,480.00	\$11.00	\$3,740.00	\$20.00	\$6,800.00	\$11.13
\$7,500.00	\$153.50	\$23,025.00	\$95.00	\$14,250.00	\$195.00	\$29,250.00	\$140.00	\$21,000.00	\$52.00	\$7,800.00	\$149.46
\$14,400.00	\$32.20	\$15,456.00	\$50.00	\$24,000.00	\$24.00	\$11,520.00	\$25.00	\$12,000.00	\$11.00	\$5,280.00	\$23.85
\$12,480.00	\$34.20	\$16,416.00	\$17.00	\$8,160.00	\$14.00	\$6,720.00	\$18.00	\$8,640.00	\$18.00	\$8,640.00	\$18.55
\$18,750.00	\$22.20	\$27,750.00	\$13.00	\$16,250.00	\$13.00	\$16,250.00	\$18.00	\$22,500.00	\$9.36	\$11,700.00	\$18.55
\$10,500.00	\$14.10	\$10,575.00	\$15.00	\$11,250.00	\$5.00	\$3,750.00	\$5.00	\$3,750.00	\$6.46	\$4,845.00	\$5.30
\$575.11	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$15,721.00	\$15,721.00	\$3,500.00	\$3,500.00	\$100.08	\$100.08	\$3,672.90
\$17,500.00	\$7.40	\$18,500.00	\$8.00	\$20,000.00	\$17.00	\$42,500.00	\$7.50	\$18,750.00	\$3.60	\$9,000.00	\$7.95
\$5,500.00	\$710.00	\$7,100.00	\$1,500.00	\$15,000.00	\$8,395.00	\$83,950.00	\$1,400.00	\$14,000.00	\$500.00	\$5,000.00	\$1,469.16
\$1,000.00	\$130.00	\$1,300.00	\$1,000.00	\$10,000.00	\$326.00	\$3,260.00	\$12.50	\$125.00	\$30.00	\$300.00	\$13.25
\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00
<u>\$1,300,601.11</u>		<u>\$2,129,302.00</u>		<u>\$1,392,660.00</u>		<u>\$2,556,661.00</u>		<u>\$1,385,105.00</u>		<u>\$949,999.98</u>	

Construction	Rohl Global Networks		Southeastern Engineering Contractors		Southern Underground		V. Engineering & Consulting Corp.		
	Total Cost	Unit cost	Total Cost	Unit cost	Total Cost	Unit cost	Total Cost	Unit cost	
	\$71,009.40	\$33,732.45	\$33,732.45	\$31,177.00	\$31,177.00	\$70,000.00	\$70,000.00	\$64,500.00	\$64,500.00
	\$116,308.50	\$56,220.75	\$56,220.75	\$43,881.00	\$43,881.00	\$140,000.00	\$140,000.00	\$129,000.00	\$129,000.00
	\$55,093.50	\$33,732.45	\$33,732.45	\$31,605.00	\$31,605.00	\$70,000.00	\$70,000.00	\$35,000.00	\$35,000.00
	\$302,312.00	\$90.00	\$279,000.00	\$88.70	\$274,970.00	\$50.00	\$155,000.00	\$108.00	\$334,800.00
	\$501,115.00	\$125.91	\$390,321.00	\$203.90	\$632,090.00	\$132.00	\$409,200.00	\$113.00	\$350,300.00
	\$79,712.00	\$125.91	\$50,364.00	\$250.00	\$100,000.00	\$140.00	\$56,000.00	\$115.00	\$46,000.00
	\$4,400.06	\$1,050.00	\$14,700.00	\$1,733.00	\$24,262.00	\$2,500.00	\$35,000.00	\$6,500.00	\$91,000.00
	\$58,981.05	\$18,016.00	\$135,120.00	\$16,075.00	\$120,562.50	\$2,800.00	\$21,000.00	\$3,000.00	\$22,500.00
	\$41,064.40	\$3,750.00	\$37,500.00	\$9,590.00	\$95,900.00	\$10,000.00	\$100,000.00	\$6,000.00	\$60,000.00
	\$2,551.42	\$975.00	\$1,950.00	\$1,156.00	\$2,312.00	\$4,900.00	\$9,800.00	\$2,000.00	\$4,000.00
	\$27,607.70	\$1,250.00	\$12,500.00	\$2,642.00	\$26,420.00	\$5,500.00	\$55,000.00	\$3,000.00	\$30,000.00
	\$10,611.13	\$15,000.00	\$15,000.00	\$11,638.00	\$11,638.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00
	\$20,547.04	\$5,500.00	\$22,000.00	\$3,052.00	\$12,208.00	\$19,000.00	\$76,000.00	\$2,000.00	\$8,000.00
	\$4,285.05	\$15,000.00	\$15,000.00	\$16,170.00	\$16,170.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
	\$3,421.15	\$7,500.00	\$7,500.00	\$3,123.00	\$3,123.00	\$3,000.00	\$3,000.00	\$2,150.00	\$2,150.00
	\$1,272.00	\$55.00	\$8,250.00	\$8.50	\$1,275.00	\$18.00	\$2,700.00	\$1.00	\$150.00
	\$2,756.00	\$45.00	\$2,250.00	\$73.80	\$3,690.00	\$84.00	\$4,200.00	\$2.00	\$100.00
	\$3,561.60	\$50.00	\$8,000.00	\$23.30	\$3,728.00	\$34.00	\$5,440.00	\$3.00	\$480.00
	\$3,180.00	\$25.00	\$12,500.00	\$4.60	\$2,300.00	\$2.30	\$1,150.00	\$1.50	\$750.00

\$3,180.00	\$15.00	\$7,500.00	\$5.50	\$2,750.00	\$2.30	\$1,150.00	\$1.75	\$875.00
\$3,784.20	\$15.00	\$5,100.00	\$7.40	\$2,516.00	\$3.40	\$1,156.00	\$3.50	\$1,190.00
\$22,419.00	\$175.00	\$26,250.00	\$265.50	\$39,825.00	\$200.00	\$30,000.00	\$20.00	\$3,000.00
\$11,448.00	\$18.00	\$8,640.00	\$27.60	\$13,248.00	\$28.00	\$13,440.00	\$22.00	\$10,560.00
\$8,904.00	\$14.00	\$6,720.00	\$19.60	\$9,408.00	\$28.00	\$13,440.00	\$14.00	\$6,720.00
\$23,187.50	\$14.00	\$17,500.00	\$17.20	\$21,500.00	\$28.00	\$35,000.00	\$14.00	\$17,500.00
\$3,975.00	\$8.00	\$6,000.00	\$8.60	\$6,450.00	\$5.00	\$3,750.00	\$2.00	\$1,500.00
\$3,672.90	\$10,000.00	\$10,000.00	\$3,063.00	\$3,063.00	\$7,100.00	\$7,100.00	\$1,825.00	\$1,825.00
\$19,875.00	\$4.50	\$11,250.00	\$10.60	\$26,500.00	\$15.00	\$37,500.00	\$1.00	\$2,500.00
\$14,691.60	\$750.00	\$7,500.00	\$858.00	\$8,580.00	\$700.00	\$7,000.00	\$300.00	\$3,000.00
\$132.50	\$500.00	\$5,000.00	\$490.00	\$4,900.00	\$1,000.00	\$10,000.00	\$50.00	\$500.00
\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00
<u>\$1,476,158.70</u>		<u>\$1,298,200.65</u>		<u>\$1,627,151.50</u>		<u>\$1,436,626.00</u>		<u>\$1,285,000.00</u>